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20 8] 1694/ 52 A1 (8 4 )13.65 20 71 159K B 1 ON H)13.23
3[ 7] 209/ — i 1 (% - 6k 2% )13, 94 3[ 6] 75 AL fE 1 (% 7)) 13. 31
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T01) 23T fE AL (E H 4)16.12 70 5] 494 &2 M0 1 (B i H)14.27
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5[ 7] 61Fv Sty h 2 (F 4)12. 47
6[ 3] 1738EH k2 (58 Fl 4)12.85
7010 313K E 2 (W 4)13.01
[ 2] 2997z v 7 ~nt2 (F R H) RIS

[ 47100342 H

B Of m Y

iy

S

K

%) 13. 09
IS 1
+)13.37
%) 13. 60
1) 14.08
) 14.45
) Ri5

) Ri5

P2 (M A 1147

H)12.10
JIN12. 21
R)12. 84
) 12.84
£)12.96
55)13. 49

=k 2 (B W7 o) RiG



[3%8] ( +2.3 m)
10 1] 258Kk # k=2 G & I#)11.52
2[ 8] 187 A =pdf 2 (18 M) 12. 24
3[ 4] 243 pE kK2 G ~ I8)12.38
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3[ 7] 245V A ARF 2 (b JIl  7H)12.42
40 6] 67#Fff% K2 (& - M m)12.48
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A0 7] 263/ SR R 2 (% i) 12. 62
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503] 99F1H FFfk2 (& + 7 ££)14.78
6[ 5] bB5A Il L2 (b J& +H)15.04
70 1] 1594 1L U H 2 OR J#) 15. 38
[ 6] 1033 Hnf2 (FA B Rz
[8#8] ( -1.1 m)
10 2] 18ERN=E~ 2 (L @ E)13.61
20 8] 25RM&E ¥ H 205 4 15)13.68
3L 4]  /hFREVWH 2 G ) 14. 61
A0 1] 283 A HAL2 (8 A 414,62
507 214% # P20GH & [£)14.68
6[ 6] 27T FF A2 @ & )I)14.89
70 31101796 Il #& 7y 2 (#8 &= & ¥)15.23
[ 5110097 fi& H #E 2 (H R) Ri5
[10#8] ( -0.1 m)
10 3] 284/ kb2 (33 & I)13.55
2[ 4] 9% 1 H=:2 (F f2)14.07
3L 1] 195w #2 ( B7)14. 71
A 8] 2637 ik FiJy 2 (% ) 14. 77
5[ 2] 2294k H A2 (& B)14.71
6[ 6] STHHIZOV 2 (KR ) 14. 85
70 5] 295k me H g2 (G N 1)14.90
[ 7] 161 g FH2 CK 1H) Ri5



(11#8) ¢ -2.1 m)
10 61100177 H #k 1E 2 (1 K ##75) 13. 95

2[ 7] 634 I B E2 (% ) 13. 97
3[ 2] 28Kk#& 4 H2EE W £)13.98
41 5110034 F Fii & 2 (B #H % Be)14.16
5[ 3] bI&m AR~ A2 (K J5)14.55
6[ 8] 1MTEWE EFML 2 (7 BF 2% JF)15.27
70 11 1718 £ £+ 2 O %5)15. 30
8[ 4] 49+ E wmim2 B & & m17.70
[13%8) (  -2.3 m)
10 6] 3018 FLZEAR 2 (W 9 2 B)14.19
2[ 2] 15T D X 72 2 (4 R)14. 49
3[ 4] 165 H X #E2 (& ) 14. 69
47 8] 193E H W& 2 (& ) 15. 03
5[ 5] 3094+ H 5k 2 (WA )15.22
6[ 7] 3bkH HKH2 (E 2)16. 74
[ 3] 227k izoift 2 (3 3 & B)RiG
0 AN
s
1 232 H E£&m2CF 7 H)12.94 -2,
2 118 KArEEH] 2 (7 By 2% JF)13.04 -3.
3 183iL 1 *£EH 2 (K i) 13.06 2.
4 13 ZHIREEA 2 (HE ) 13.33 -1.
5 257#k R kKF 2 GF 4 Iy)13.46 -1.
6 18714 Eme2 (H 7)13.51 -0.
1 244 kBB 2 G5 & IK)13.55 -0,
8 206 FHILTF=2 (G 2% 1)13.57 -2.
PR %
( -2.4 m)
105] 2432 H £ &2 G 7 i)12.78
2[ 3] 183 10 EEH 2 (K ) 12. 84
3[ 6] T3=RrARfELR 2 (& ) 13. 39
41 2] 296 - 1L TF= 2 (J& 2% f)13.54
508] 257# )5 %% 2 (& /~  I#)13.56
6 71 1871~ 4 FEwe2 (@ M) 13. 57

10 1]
[ 4]

10 4]
2[ 1]
3[ 6]
4[ 5]
50 7]
6[ 3]

[ 2]

[ 8]1003F X

8\ kb BN 2 G
N8R A &A1 2 O

168 H 763 (&
25485 K Fj AR 3 (R
OTHE H 23 (&
25 AR 3 ON
209 B #5 A 3 (I
1959 & 4 A8 3 (K
2950 #5233 (R

54

i) 13. 72

N O
TF 3F100m FE(IEIALL—X)

(1#] ¢ -1.2 m)

gii

b

F4)13.04
) 14. 00
liy) 14. 23
1) 14. 49
1) 14.57
) 16. 16
o) Ri5

33 (B 7 B Ri5

— — 00 W o ~O O

[1248) ( -1.2 m)
108] 8EF W2 @ A —)13.82

2[ 4] 265tR & Wk oA 2 (B Hi)13. 89
3[ 5] 213%E & L2 R W 51421
40 6] 1 RA&2 53)14.25
SL 71 97T Rk 2 Ca ) 14. 53
60 3] 20561 )1 #h &2 (4+ B T )14.69
T02] 298 @ t2 (e ) 15. 42

(2481 ¢ -1.9 m)
1[ 3] 2097k & #8 3 (¥ - fk 2% 1) 13.03

20 2] 3Bmtr O3 (F H)13. 77
30 8] 69K ZE MR # 3 Ok H)14.12

AL 7] 1619810 HH3 (FE L & 51431
5[0 1] 182% A  ¥3(H & 1)14.51
6 5110334k (i % /I 3 (& 3¢ [F BE)14.54
[ 4] 105/ #iJp3 (& & HRXG
[ 6] 1278 ig #F3 (e - JH)R



[3%8] ( -0.7 m)
10 1] 2531 A
20 4] 273%& M
3[ 3] 83FHF K
40 71 2785 )1
5[ 5] 24/&
6[ 8] 2454
[ 2] 2105 1L
[ 6] 3E @K HEN3 (Y
[6#8] (  -0.2 m)

1[0 3] 203/ Y& M 4= 3 (h
20 1] 185) 0 & 22 3 (1%
3[ 7]

41 4]
5[ 2]
6[ 6]

Mt 6 3 (F
B3 (H
22 7% 3 (#h
HE3 CR
B3 (h

14339 8 H % 3 (

1612 H #4E3 (K
28374 B 3 (V8
[ 5] 133 H - Oz 3 (K

[ 8] 169/#K FndE 3 (4

[7#8] ( -1.8 m)
103] 284% 0k 3 (7
2[ 6] 2718 f #b2k 3 (Bk
3[ 5] 101R8 )& E#E 3 (&
40 4] BN E L B 3 (fip
5[ 1] 305+ & = L3 (fH
[ 2] 299k o A 3 (E
[ 7] 287RE#E: By A3 CH
[ 8] 13%& A #f{E3 (&

(98] ¢ -0.6 m)

106] 181% W &3 (A
2[ 1] 290K AR~ % 3 (F
3[ 7]
4[ 8]
5[ 5]
6 4]

1655 JIl 3 (5
57V%An7 yat+ 3 (K
1558 WX 5 753 (V)
70 2] 3096tk HLZs 3 (W
[ 3] 255341 £ me 3 (F

[11#8] (0.6 m)
108] 17485 K B H 3 (&
20 5] 107T8#E~V 7 4 3 (&
3L 71 291+ (i i #g 3 (i
47 6] 191 & 223 (f#
50 1] 43%k i #& &3 CH
60 3] 177H K 1% 723 Ok
[ 2] 26394 #rd 3 (F%
[ 411005748 7v2)-bh 3 (BH

[13%8]) ( -1.2 m)

1[0 4] 2307 H  #3 (&
2[ 7] 2794k A 3 (E
30 2] 2675 + HE A 3 (&
A 5J101TiE KR BBV 3 (H
5[8] 1A HEZE3(H
6[ 6] 187TFnH A p X 3 (I
70 3] 951 A&

S 723 (k-

20052H < 543 (I -

67H 1 B3 (-

i

Zal

BN

L8

F2z23 O 1 H)13.01

F)13. 54
—)14.13
JI1)14.52
£)14.79
74)14. 96

S ) Ri5

HI) R 15

1) 13. 38
JF)13. 77
#%)13.80
)14.18
1) 14.53
)14 5
1) Ri5
) Ri5

4$)13.18
%) 14. 26
H)14. 37
) 14. 41
%) 14.72
H) R 15
) R 15
B R 15

) 13.39
H)13.73

Sf)14. 24

li]) 14. 50
) 14.65
) 14. 68
) 14.76
) R 15

#)13. 56
1) 13. 65
) 13. 88
T)14.32
Ji) 14. 98
4%5)15. 31
[it]) R 15

1) R 15

)13.27
)13, 37
#E)13. 95
T)14. 44
57) 14. 68
A7) 15. 05

3 (Fd = BT ) 15. 08

[448) ( -0.6 m)
10 7] 2406 )11 ¥ 43 (b 2 2 £)13.14
2[ 8] 316y 5 AE3 G #7)13.44
3[ 5] 31D~ & 3 ( J )13.53
4l 6] 233 E M3 CGE H 1424
50 2] 157117 Hi3 (& 14,28
6[ 1] T5EEM FiE 3 (& f5)14. 64
T[ 4] 1938#E < 54 3 (& ) 14.72
[ 3] 183)I @ #3 (K ) R 15
[6#8) ( -1.1 m)
107 10=8H7x%H 3 (5F J&)13. 49
2[ 4] 31K% #Fn3 G %)13.96
30 3] 241815 B33 (F JI1)14.13
A0 1] 999F K E 33 (R L+ 7 #)14.36
502] 261 L5 #ZF3 (7 £%)14. 40
6[ 8] BIEH RE3 (K F5)14. 91
70 6] 85l HAES (F N 4)15.35
[ 5] 29 % 23 (I ) Ri5
[8#8) (  -3.0 m)
105] NTEEHR BE3 OF B 25 JR)13.97
20 6] 61 KILEE T3 (F %) 14. 09
3[3] 2440t v 3 &7 w1419
AL 7] 2=FHz0v 308 B K£14.32
50 2] MO BERE3 (v ¥ 2% £)14.50
6 4] 159/ARFTHL 2 3 OK ) 14.75
10 8] 241 A F4&F 3 ) 15. 27
[ 1] 3151 & HF X3 (K i) Ri5
[1048]) ( +0.1 m)
10 6] 1844k FEHAL 3 (K ) 13. 35
20 7] 1404 = KBEFD 3 (JE 1K) 13. 36
3 2] 293 IR &3 (b Fn H)14.17
41 5] 3034 (b Hf 33 (k R)14.22
503] 91w LE3ICGL L1 H)14.33
60 1] 2275 14 FH#3 (F 7§ = #)14.43
70 8] 1% Fik3 # ~  %)156.37
[ 4] 35EA 1EFHF3 (E 1) Ri5
[1248] ( -0.9 m)
107 MITESILIL3IW H H)13.34
2( 8] 243 3% FEAH3I G 7 Ik)13.60
3L 2] 11aH FEHE3 (& #)14.10
AL 4] 145 . #& = 3 (] ) 14. 23
5[ 3] 9k i Z IR 3 (5F f&)14. 38
6[ 5] 139K&E ##&3 (1 dk) 14. 93
[6] 1788 K ZEHE3I(E O BE)RE



A%

AN

— O N OO N ©

[24H] (
1[ 6] 1837 10
2[ 7] 3167 W
3[ 2] 184/)5 &

+0.2 m)

EBH 2 (K
A3 (R
BE AR 3 (K
A Hk 3 (Gl
131k D fn2 (5
6 3] 217t i = AL 2 (1L
10 4] 163G ARBLOA 1 (F
[ 5]1017 A= Fn+ 3 (#
(458] (
1[ 8]
2[ 6]
3[ 5]
41 4]
[ 1]
[ 2]

41 1]
5[ 8]

3L R

+0.7 m)
2032 £ E£Z=3 (h
1190 oo = B3 (F
2813 plc 2 AE 2 (B
305K H & A& Z 3 (fH
T8 K 3 (D
[ 3] 16975 MRF] M 3 (74
[ 7] 265K &
[648]) ( +0. 4
10 8] 1811 &
2[ 6] T3=HEiARAEA 2 (¥
3L 4] 18EWI)E~ 2 (K
40 7] 17T B k6 3 (B
5[ 1] 3094t )7 T+ B 3 (3
6[ 511005 /A A HEt 2 (BF
[ 3] 791 A KA 3 (F

AR 2 (8

m)

E w2 (i

e 3
1 263 1A 7223 GE (4 mM)13.01 -0.
2 209 7mjE AR 3 (- kR A F)13.03 -1.
3 16 E H 0 P§3 (P FH)13.04 -1.
4 240 )1l A3 (B ha H)13.14 0.
5 284%FB0OE Y 3 (F A #5)13.18 -1.
6 2307 W #3 (& F)13.27 -1.
7 41 FEXLSH3 W% K +)13.34 -0.
8 184/h#k BEHR 3 (K i) 13. 35 +0.
R %
( -0.8 m)
103] 7655 W 3 (% ) 12. 83
2[ 5] 25311 A %7223 (B (b m)13.03
3[ 4] 240 )11 EAE3 (H 7 42 £)13.14
41 8] 28400k 3 (8 A 46)13.22
5[ 1] 4TTFHE L H3 W K’ +)13.35
6[ 7] 2307 W #3 (R E)13.45
70 2] 184/ %k BE AR 3 (K ##)13. 59
[ 6] 20000 %k £H#F3 (- k25 ) Ri5
TF HB200m FZE(AHEA A LL—X)
[1#8] ( 0.0 m)
10 2] 28450k 3 (75 A 46)27.56
2[ 7] 209/ R SE b 2 (fE - kA 1) 28. 87
3[ 4] 3 W A2 (F ) 29. 00
4] 6] 263/N78 53 (% i) 29. 91
5[ 3] 2440t % £ .03 G & #)30.07
6[ 5] 671 #UfE2 (& - FFAY )30 11
70 8] 14188 H BIE2 (R )32.17
[ 111021 =4 = 3E 2 (W &E)IZH) Ri5
[3%8] ( -0.4 m)
103] 768 B  #§3 (¥ ) 25. 97
2[ 6] 185 Hjdpx A 2 (f§ J50)29. 32
3[ 211033tk B 78 2 (4 3¢ [® ) 29. 83
40 4] 1619 )11 % F 3 (K %) 30. 23
5[ 8] 127+ @ =1t 2 (I fiE) 31. 57
6[ 7] 173 721 (& Fl £)37.60
[ 1] 2994 % —3#E2 (L ft H) XIS
[ 5] 159 # X H 3 ON ) Rz
[5#8] (  +0.4 m)
102] 2432 5 £ &2 (G 7 k) 25.93
2[ 41 2400 )1 A3 (> 7 12 £)26.50
3[ 6] 99F HEFS3 (& £ 7 £)28.38
AL 7] 295 &% FH &2 G A [)30.41
5[ 3] 2834 Ift ZsA£2 (7 A 4)30.69
6[ 1] 303 #% H2 (k& R)34.08
[ 5] 251y meE s (7 M ™M) RIB
[ 8] 193 # PR &3 (& H) Ri5

[ 2] 1555 M BERL A 3 (/)

TSR AT JaEF1 2 (U5 &

it

23

i

Yo

E2]

i

28

BN

i) 25. 91
i) 26. 97
) 27. 99
) 29. 30
1) 30. 67
M) 32. 28
4£)36. 05
) Ri5

Jii0) 26. 40
111) 30. 00
1) 30. 73
7)31.35
%) Ri5
H) R 15
R) Ri5
H) R 15

H])26. 91
) 27. 25
'=)27.84
%5)29. 54
44)30. 53
i) 32. 84
)4
H) &5



[7#8] ( +1.7 m)
107) 2531 A %7223 (& (I H)26.51
2[ 2] 8L #WF3 (Hm B —)28.65
3[ 8] 103} FEP 2 (W 4)29. 96
A[ 5] 16581 X£M2 (& i) 30. 06
5[ 3] T53KJF ZEE 3 (¥ rd) 30. 23
6 41 9552)IlHIZ=)) 3 (P & Bt Je)31.09
T7[ 6] 19588 HAE )5 2 (K i) 34. 01
8[ 1] 254 "M ZELA 1 (B (L [)34.59
[948) (  +0.2 m)
10 2] 140%= %~ KEEF0 3 (I k) 27. 31
2[ 6] 2412 W EEHF 3 (F J11)28. 81
3[ 3] 261H mT F Iy 3 (F £)29.15
47 11 974 kK3 CH %) 30. 55
50 4] 1510 1 #M &2 (P& ok & —)30.66
6[ 51100358 &+ Fi 42 3 (BY ® 2 ) 31.00
70 7] 315m J7 J& 3% 3 R #$)31. 25
8[ 8] 227TH v BHH 2 (4 4 X ¥7)33.84
[11#48]) ( +1.2 m)
107) 4TERESWRMT3 W K 5)21.32
2[ 6] 21MFE R 722 (B %) 28. 58
3[ 5] 1T@EN A2 (B o E)29.46
40 8] THMPEREE 2 (B & 493041
50 3] 143K#K B3 ( e )30. 54
6 2] 221k HFE1 (F ¥E +)35.82
[ 4] 249/ | ALy 2 (I ) &5
[1348) (  -0.2 m)
10 7] 23078 W 33 (& £)27.50
2[ 6] 69 HES3 Ok ) 27. 82
3[ 4] 3074 R & #n3 (e ) 30. 27
40 21 M7#0 # A 3 (5 B 28 J5)30.40
5[ 5] 55X fE3 (fh R +)30.73
[ 3] 5f ZE  ZF2 (K &) Ri5
[ 8] 93 » I W3 (ff + 7 &) RIS
[15%48] ( +0.9 m)
10 2] 22947 % fE &= 3 (& F)21.55
2[ 7] 2674 11 FE3 (K #E) 28. 07
3[ 6] 2934 K2 T3 (h F1  H)28.80
40 5] M= BEE20S > JI11)29.99
5[0 4] 273F1 3 L3 (F 7)30. 41
6[ 3] 139 % H ¥ 3 (B k) 31. 21
[ 8] 1887 ¥ ¥4 3 (8 pEt L
0 N
e
1 1837L A EH2 (K i) 25. 91 +0.
2 243 H FEA2 G 7 Ik)25.93 +0.
3 16 F W PE 3 (K F4)25.97 -0.
4 118 KATEEF 2 (U7 B 2% JF)26. 40 +0.
5 2404 )11 1L 3 (b 7 #2 £)26.50 +0.
6 253 (LA EZE3 (B 11 [H)26.51 +1
T 2645 —3#E2 OS f4 15)26.61 +1
8 181#H H w3 (H &H H)26.75 +1

B N e B N N\ )

[(8#H])
1[ 1]
2[ 5]
3[ 6]
41 3]
5[ 2]
60 7]
10 4]
8[ 8]

(1048] (

1[ 8]

( +1.4 m)

265 7 —#E2 OS
18155 B %3 (H
27%% B B2 (f
2585 N ¥ R 3 ON
2597 [ ZEnAE 2 (K
1k¥ &3 (4
kg A £ 75 3 (L
1235 K EL2 (&
+0. 1 m)

10=8 A 7eH 3 (5F

2[ 71 182t fEFF £ H 2 (H
3L 2] 3MMHRE %2 4E 3 (
A1 5] 245/Bp < BLRE 2 (
50 4] 291 < v 2 (Jif]
[ 6] 21FH¥#EE £ 2 (H
[ 3] 29fkWr 7= 1 3 (12

(1248]) (

10 8] 2150
2[ 5]  9FI
3[ 6] 1138 &

+1.9
+ &3 (H

m)

)53 (55
By 32 3 (f%

AL 7] 31TR K B3 (F
53] 51 |/ &3 (K
[ 2] TSN FEREHE 3 (B
[ 4]

[14#8] ¢ +1.7 m)

1[ 6] 294Kk K3z~ 33 (h
2[ 4] 157=% T H3 (&
3[ 3] 1454 & %2 (I
A0 2] 394 I =42 (I
5[05] 23K#E i3 (CE
6[ 71 43gn K W I3 CH
[ 8] 218EH & KB A& 3 (U

200Kk W KA (B -

3O B

3

B

;E

=5 o

Hw

il

+ 7
il

Fn

H
It

#)26.
#)26.
)28,
)29,
B2
%)31.
)31,
11)33.

&) 21.

61
15
33
10
32
44
95
40

32

) 28. 61
)29. 04
79)30. 79
HE) 32. 04
&,
A) Rz

) 28. 36
F2)28. 39
1) 29.80
4£)29.98
55)31.66
%) Ri5

) Ri5

H)27. 87
R)28.29
#1)29. 78
74) 30. 41
4 30. 51
Ji0) 33. 09
W) Ri5



J&H%

[248])
1[11]
2[ 2]
3[ 5]
41 3]
5[16]
6[14]
7010]
8[17]
9[15]
10[ 8]
11[ 7]
12[12]
13[ 9]
14[ 6]
15[ 4]
16 18]
17[13]

[ 1]

(4%H]
1[0 7]
2[ 4]
3[18]
4115]
5[16]
6 2]
71011]
8[ 6]
9[10]
10[ 1]
11[13]
12[ 5]
13[ 8]
14[12]
15[14]
16[17]
17 9]

1774 I

173% &% &
245 f
1067
2057 1E
97H
554 [H
26144 I

EE1L T

237 O e 1 (BE
1832 (L meZz 1 (K
265 = #4f FHAE 1 (&
30545 B3 ~ 92 1 (1

2950k 8
14544 fig
311 I
28151
223H
253+ =

1194 ji
83)% A
217K {52
15K B
251f
NIk &
247K K+
9K %
69FK %
89EF I}
101 | #&
99/ B
283[E] jE
6715 1L
2217 5
20979 #
25945 K

-2.5 m)
1[ 4] 1831L A EH 2 (K ) 26. 08
20 6] 7675 H P53 (& F5)26. 16
3L 3] 243 A Em2 & 7 Ik)26.34
AT 5] NBKRArJEEH]2 (U7 % 2 i) 26.57
50 7] 24043 )I1 EAE3 (B »» 12 H)26.92
60 1] 26%% )5 —HE2 ON £ #5)27.07
70 8] 2531 A 223 (H b H)27.07
8[ 2] 18155 W #¥3(H #F +H)28.45
TF 1E£800m FTEUMHIALL—X)
[1%8]
10 4] 2014k H ¥ =1 ( - H £)2:35.82
208] 1MIAF U /71 (E @ 5)2:44.13
3L 11 291hn g ZF R 1 (i ) 2:44.72
AT17] 151mEE 21 G ¢ & )2:45.30
5[ 5] 19BE A i1 (Y S F J H)2:45. 84
6[14] 2714 Fa 1 (Bk #)2:47. 32
107 1tAaH wH 1 (& #)2:47.82
8[15] 249F #k mwe B 1 (I Fm)2:48. 11
9[ 3] 1W# Wior1 G #)2:51. 45
10[18] 127F % MWL 1 (k& fi0) 2:56. 69
11010] 315411 EIE 1 R #)3:03. 70
12[19] 192 H 01 (GE T)3:04.73
130 9] 2434k kE3E 1 (¢ 4 I%)3:05.93
14[16] 181/27k ##A 1 (H #H +)3:06.58
15[13] 157 % K A 1 (& R)3:06. 99
16[11] 1694 A 31 (T 4 R)3:10.13
170 6]1017F k Y 721 (8 2 4« 1)3°24 31
[ 2] 165F 58 & 1 (& lif]) BEER 7 L
[12] 1238 &1 (B i I)EEaEL
[348]
T001] 1610 s 1 (K #)2:37.93
2[ 2] 1635 A~ L1 (F 42)2:48.00
3[ 7] 25584 )11 #HjJh1 (R ) 2:50. 10
41 9] A& ARBEE 1 G5 JH)2:50.55
5[13] 18778 & ==& 1 (I 1) 2:50. 81
6[ 8] 2039 #5 MEAE 1 (h 1) 2:54.13
70 3] 3018 4 % &1 (W 3 A $)2:56. 15
8l12] 120 & 45+ 1 (R A 22 1) 3:01.09
9 4]  3fEpE@AR v 1 (¥ M) 3:02. 27
10017] 213%rH A& 1 GL W JE)3:06.24
1ML 6] 241k EE 1 (H J11)3:09. 58
12[ 5] 2272 ¢ BERE1 (9 3 = $$)3:10.02
13[14] 27487k A1 (b & JI11)3:12.40
14[18] 33K B #5ME1 (& H)3:25.17
[ 1] 9tfams H &1 L b &) EE&E4EL
[156] 1394w H M1 (| 1) EegxiE L
[10] 31323 2xwpv 1 (A #H 1) ECERAEL
[16] 299% W ¢ 1 (& ) H)RIB

[ 3]

155%8 i

EE1 (R
FE1 (H
2 1 (
O 1 O
HF1(
D1 R

w1 F
O 1 (E
W1 (Ll
FE A1 (H
FR1
TH1(F
EH 1 &
fEaA 1 (5
B3Ok
Jh% 1 (H
=k (e
HAE 1 (R
Exd 1 (A

SRR

i1 (5

HE R 1 (% -

MEAR 1 (R
¥ 1 Uh

) 2:
"2
79)2:
B OH)2:
)2
IF) 2:
&) 2:
5)2:
"2
) 2
H)2:

%)3
)3
)3

)E

2
JR
7=
H

b

AN

)2
—)2
)2
r) 2
F) 2

E2]
2}

H

B 25 )2
) 2:
Fé)2:
H1) 2:
FA)2:
H) 2:
) 2:

¥y

+
A )3
R A% ) 3
Lt

A)3-
H) R 15

7)3:
ik 23 ) 3:
1E)3:

37.
38.
50.
51.
52.
54.
54.
%4,
54.
57.
99.
-00.
:00.
:03.
:04.
:04.
15.

-40.
:40.
148.
:48.
149
149
950.
51,
51.
92.
93.
94.
:07.
:09.
11.
17.
22.

HT) R15

63
23
29
19
04
06
16
18
48
17
00
24
34
17
71
90
31

13
14
48
817
05
83
09
13
80
69
88
36
90
93
36
48
97



4> AN
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